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 Victor Champion Cup ( Match 7 )

Ewart vs Burke

Ewart Burke Burke Ewart

N Ewart E Burke N Boylson E Rogers

S Howe W Courtney S Ong W Clark

Board Contract by M D N-S E-W Contract by M D N-S E-W IMPs

1 3♥ W 2 100 3NT N 5 250 8

2 2♥ E 3 140 2♥ E 3 140 - -

3 3NT W 1 100 4♥X S 3 500 12

4 4♥ E 4 620 4♥ E 4 620 - -

5 4♠ W 5 450 4♥ W 4 420 1

6 6♠ W 6 1430 4♠ W 6 680 13

7 1NT W 1 90 2♠ W 3 140 2

8 3♣ E 1 50 3♣ E 3 110 4

9 3♦ N 4 130 3NT N 1 50 5

10 2♠ S 1 100 1♠ S 1 80 5

11 3♠ N 2 100 3♦ E 1 50 4

12 2NT W 2 120 2♠ E 2 110 - -

13 3NT W 3 300 3NT W 3 600 14

14 3♥ N 3 140 3♥ N 1 50 5

15 3NT W 3 400 4♠ E 5 450 2

16 3NT W 1 100 5♦ W 5 600 12

64 23

IMPs Ewart Burke

This segment 64 23

Penalty 0 0

Carryover 0 0

Total 64 23
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N
EW

S

1 ♠Q4

A9 7 2

A10 4

♣KQ7 3

♠10 9 8 7 6 5 3

4

Q J 8

♣10 4

♠A 2

8 6 5

7 6 5 32

♣A J 6

♠K J

KQ J10 3

K 9

♣9 8 5 2

 110 
7
5
8
9
8

4
7
5
4
4

N
EW

S

2 ♠Q9 7 4

10 9 5

9 4

♣ J 6 5 4

♠ A J 5

AQ76 32

K 8 2

♣ 2

♠K 6 3

K 4

AQ6 5 3

♣Q10 8

♠10 8 2

J 8

J10 7

♣AK 9 7 3

 140 
4
6
4
5
6

8
7-6
9-8
7-6

7

= 3♥ by W, down 2,EW -100

= 3NT by N, down 5, NS -250

8

-

Ewart

Burke

8

0

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

1N 2♠ 3♣
3♥ P P P

♦A♦8♦7♦K
♣K♣4♣6♣2
♣Q♣T♣A♣5
♠A♠J ♠4♠3
♠2♠K♠Q♠5
♣9♣3♥4♣J
♦Q♦2♦9♦4
♦J♦3♣8♦T
♠T♥8♥Q♥A
♣7♠7♥6♥T
♥K♥2♠6♥5
♥J♥7

= 3♥ by W, down 2,EW -100 = 3NT by N, down 5, NS -250

= 2♥ by E, making 3,EW 140

= 2♥ by E, making 3,EW 140

-

-

Ewart

Burke

8

0

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

1♥ X

1N P 2♥ P

P P

♣8♣A♣4♣2
♣K♣5♦2♣T
♦J♦4♦8♦Q
♣Q♣3♣6♥3
♥2♥K♥8♥5
♥4♥J♥9♥Q
♥A♦3♣7♥T
♦K♦A♦7♦9
♠3

= 2♥ by E, making 3,EW 140 = 2♥ by E, making 3,EW 140
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N
EW

S

3 ♠10 9 8 5 4

A9 7 6 3

9

♣Q3

♠A J 6 32

J 4

8 7 6

♣A10 8

♠K

K10 8 5

Q J 5 4

♣7 6 5 4

♠Q7

Q2

AK10 32

♣K J 9 2

 140 
3
4
8
2
3

8
9
4

10
10

N
EW

S

4 ♠6 4 3

Q4 2

Q8 5 4 3

♣Q9

♠A

A J10 7 5

A6 2

♣K 8 6 3

♠Q J 9 8 7

9 8

K 9

♣ J 5 4 2

♠K10 5 2

K 6 3

J10 7

♣A10 7

1440 
1
4

2-1
4
2

11-12
8

11
9

11

= 3NT by W, down 1,EW -100

= 4♥X by S, down 3, NS -500

12

-

Ewart

Burke

20

0

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

P

1N 2♣ 3♠ P

3N P P P

♥6♥4♥T♥Q
♣J♣3♣A♣4
♦8♦4♦A♦9
♠Q♠4♠2♠K
♥K♥2♥3♥J
♥8♦3♥9♠3
♥A♣T♥5♦2
♥7♦6♣7♣2
♠T♠A♣5♠7
♠J♣6♦T♠5
♣8♦5♣K♣Q

= 3NT by W, down 1,EW -100 = 4♥X by S, down 3, NS -500

= 4♥ by E, making 4,EW 620

= 4♥ by E, making 4,EW 620

-

-

Ewart

Burke

20

0

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

P P 1♥ P

2♥ P 3♣ P

4♥ P P P

♠Q♠2♠6♠A
♣3♣2♣A♣9
♣7♣Q♣K♣4
♣6♣J♣T♦8
♣5♥K♠3♣8
♠K♠4♦2♠7
♥3♥2♥J♥8
♥A♥9♥6♥4

= 4♥ by E, making 4,EW 620 = 4♥ by E, making 4,EW 620
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N
EW

S

5 ♠6 3

8 5

Q J 6 4 3

♣A10 7 5

♠ J10

10 7 2

A10 5 2

♣K 6 32

♠KQ4

Q9 4

K 9 8 7

♣9 8 4

♠ A9 87 5 2

AK J 6 3
--

♣ Q J

 450 
2-5
2-3

2
7

5-6

8
10
11
6
7

N
EW

S

6 ♠8 2

KQ8 6

A10 6 5

♣ J 5 2

♠K J10 9

J 7 5 3

K 7 4 3

♣9

♠5 4

A10 9 4 2

9

♣Q8 6 4 3

♠AQ7 6 3
--

Q J 8 2

♣AK10 7

 650 
6
1
8
2
7

7
11
5

11
6

= 4♠ by W, making 5,EW 450

= 4♥ by W, making 4,EW 420

-

1

Ewart

Burke

20

1

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

P P P

2♠ P 2N P

4♥ P 4♠ P

P P

♣A♣2♣9♣Q
♦6♦A♦7♥6
♠J ♠4♠2♠3
♠T♠Q♠A♠6
♥A♥5♥2♥4
♠9♦3♦2♠K
♦K♠5♦4♦5

= 4♠ by W, making 5,EW 450 = 4♥ by W, making 4,EW 420

= 6♠ by W, making 6,EW 1430

= 4♠ by W, making 6,EW 680

-

13

Ewart

Burke

20

14

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

P P

1♠ X 4♠ 4N

6♠ P P P

♥K♥3♥2♠3
♣A♣2♣9♣4
♣7♣5♠9♣3
♠K♠4♠6♠2
♠T♠5♠A♠8
♣T♣J♠J♣6
♦3♦9♦Q♦A
♥6♥7♥9♠7
♠Q♥8♥5♥4
♣K♥Q♥J♣8
♦J♦5♦4

= 6♠ by W, making 6,EW 1430 = 4♠ by W, making 6,EW 680
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N
EW

S

7 ♠K 5 4

AQ9 7 5

K

♣Q9 6 2

♠Q9 8

K 8 6

J 5 4 3

♣8 7 3

♠7 2

J 4 2

10 9 8 2

♣A J 5 4

♠A J10 6 3

10 3

AQ7 6

♣K10

 140 
5
4
8
4
9

7
9
4
9
4

N
EW

S

8 ♠ A6 3

AK J 8 7 3

8 3

♣ 9 4

♠ J10

Q2

Q J 9 5

♣AQ J 8 3

♠Q9 8 2

9 4

K10 7 6

♣10 7 5

♠K 7 5 4

10 6 5

A 4 2

♣K 6 2

-100 
6
7
8
6
4

6
6
5
7
9

= 1NT by W, making 1,EW 90

= 2♠ by W, making 3,EW 140

2

-

Ewart

Burke

22

14

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

P

1N P P P

♥7♥6♥J♥3
♥4♥T♥A♥8
♥5♥K♥2♦6
♠Q♠2♠3♠4
♠9♠7♠6♠K
♥Q♣3♣4♦Q
♥9♣7♦2♦7
♣2♣8♣J♣T

= 1NT by W, making 1,EW 90 = 2♠ by W, making 3,EW 140

= 3♣ by E, down 1,EW -50

= 3♣ by E, making 3,EW 110

4

-

Ewart

Burke

26

14

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

P 1♥ P P

1N 2♥ 3♣ P

P P

♥9♥5♥A♥2
♥K♥Q♥4♥6
♥J♠T♦6♥T
♣9♣3♣5♣K
♣2♣4♣A♣7
♣Q♣T♣6♠6
♠J♠Q♠K♠A
♠3♣8♠2♠4
♦Q♦K♦A♦3
♦2♦8♦9♦T

= 3♣ by E, down 1,EW -50 = 3♣ by E, making 3,EW 110
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N
EW

S

9 ♠ J 5 4 32

A7

A8 4

♣AQ J

♠AQ9 6

K J 4 3

K 3

♣K10 4

♠ K 7

5 2

Q J10 7 65

♣ 75 3

♠10 8

Q10 9 8 6

9 2

♣9 8 6 2

 110 
7
7
5
9
5

6
6
8
4

8-7

N
EW

S

10 ♠Q2

A9 8 6

Q5 32

♣8 6 3

♠A J 8

J 7 3

AK10 9 7

♣Q J

♠ K 9 76 5 3

K

86

♣ AK 9 2

♠10 4

Q10 5 4 2

J 4

♣10 7 5 4

 110 
5
8

6-5
6-5
8-7

6
5-4

7
6
5

= 3♦ by N, making 4, NS 130

= 3NT by N, down 1, NS -50

5

-

Ewart

Burke

31

14

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

1N P 2N

P 3♦ P P

P

♣4♣3♣2♣Q
♠2♠A♠7♠8
♠6♠K♠T♠3
♦Q♦2♦4♦K
♦3♦5♦9♦A
♠4♠9♦J♥6
♣5♣6♣A♣T
♠5♠Q♦T♣8
♥2♥8♥A♥3
♠J♥4♥5♥9

= 3♦ by N, making 4, NS 130 = 3NT by N, down 1, NS -50

= 2♠ by S, down 1, NS -100

= 1♠ by S, making 1, NS 80

-

5

Ewart

Burke

31

19

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

1N P

2♦ P 2♥ 2♠

P P P

♦J♦2♦T♦6
♦4♦3♦9♦8
♦K♠5♠T♦5
♣7♣3♣J♣A
♥K♥2♥A♥3
♠2♠8♠K♠4
♠3♥4♠Q♠A
♠J ♠6♥5♥6
♣Q♣K♣4♣6
♣2♣T♣8

= 2♠ by S, down 1, NS -100 = 1♠ by S, making 1, NS 80
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N
EW

S

11 ♠AK Q9

A 4

8 7

♣ J 9 6 32

♠10 6 5 3

7 5 2

K10 5 4 3

♣10

♠ J 8 2

Q10 9 3

Q J 6 2

♣8 7

♠7 4

K J 8 6

A9

♣AK Q5 4

  80 
6
7
6
6
6

6
6
7
7
6

N
EW

S

12 ♠4 2

9 3 2

J 9 3

♣A9 8 4 2

♠K 9 7 5 3

A J 5

8 7 6

♣6 5

♠AQ J10

10 8 6 4

K10 2

♣Q7

♠8 6

K Q7

AQ5 4

♣K J10 3

 120 
5
5
6
5
6

8
8
7
8
7

= 3♠ by N, down 2, NS -100

= 3♦ by E, down 1,EW -50

-

4

Ewart

Burke

31

23

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

P

1♣ 1♠ P 2♠

X P 3♦ P

P 3♠ P P

P

♣T♣7♣Q♣2
♠4♠A♠3♠2
♣3♥2♣8♣K
♠7♠9♠5♠8
♠K♠6 ♠J♥6
♠Q♠T♥3♣4
♣J♦5♦2♣A
♦A♦7♦3♦6
♦9♦8♦K♦J
♥7♥9♥J♥A

= 3♠ by N, down 2, NS -100 = 3♦ by E, down 1,EW -50

= 2NT by W, making 2,EW 120

= 2♠ by E, making 2,EW 110

-

-

Ewart

Burke

31

23

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

1N P 2♥ P

2♠ P 2N P

P P

♦3♦6♦K♦A
♥Q♥3♥A♥4
♣5♣7♣J♣A
♦J♦7♦T♦Q
♦4♦9♦8♦2
♠4♠5♠T♠6
♥6♥7♥9♥J
♣6♣Q♣K♣2
♦5♣4♥5♠J
♥K♥2♠3♥8
♣T♣8♠7♠Q

= 2NT by W, making 2,EW 120 = 2♠ by E, making 2,EW 110
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N
EW

S

13 ♠Q10 8 7 6

K J 9 3

A8

♣K 5

♠K 9

AQ10 8

6 3 2

♣Q7 6 3

♠ J 5 4 2

7 6 4

J 9 4

♣9 8 2

♠A 3

5 2

KQ10 7 5

♣A J10 4

 660 
2
6
3
2
2

11
7

10
11
11

N
EW

S

14 ♠A J10 9 6

A9 7

Q7 5

♣Q9

♠KQ4 3

10 4 3

10 9 8 3

♣10 8

♠ 5 2

Q J 86 5 2

A6

♣ J 7 5

♠ 87

K

K J 42

♣ AK 6 4 32

-100 
9
7
9
4
5

4
5
3
9
8

= 3NT by W, down 3,EW -300

= 3NT by W, making 3,EW 600

14

-

Ewart

Burke

45

23

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

1♠ P P

X P 3♥ P

3N P P P

♠6♠K♠2♠3
♦2♦9♦K♦A
♠Q♠9♠4♠A
♥5♥3♥Q♥7
♦6♦4♦Q♦8
♥2♥J♥A♥4
♣Q♣9♣4♣K
♠7♦3♠J♦5
♦J♦7♥9♣3
♠5♣J♠8♥8
♠T♣6♣2♣T
♥K♥T♥6♦T
♣5♣7♣8♣A

= 3NT by W, down 3,EW -300 = 3NT by W, making 3,EW 600

= 3♥ by N, making 3, NS 140

= 3♥ by N, down 1, NS -50

5

-

Ewart

Burke

50

23

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

P 2♦
3♣ 3♥ P P

P

♣T♣5

= 3♥ by N, making 3, NS 140 = 3♥ by N, down 1, NS -50
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N
EW

S

15 ♠ J 8

J 8 7 5

Q10 9 6

♣A10 8

♠Q10 5 4

K10 3

AK J 7 4

♣9

♠A9 2

9 2

8 5 3

♣K J 7 5 2

♠K 7 6 3

AQ6 4

2

♣Q6 4 3

 450 
4
2
3
3
6

7-8
11
10
10
7

N
EW

S

16 ♠8 5 4

7 6 4 32

J

♣Q9 7 4

♠6 2

AK 9 5

Q9 7 5 4

♣A 3

♠AQ J 9 7

J 8

K10

♣ J 8 5 2

♠K10 3

Q10

A8 6 32

♣K10 6

 600 
2
5
4
2
5

9
7
8

11
7

= 3NT by W, making 3,EW 400

= 4♠ by E, making 5,EW 450

2

-

Ewart

Burke

52

23

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

P

1♥ P 2♦ P

2N P 3♥ P

3N P P P

♠J♠Q♠A♠3
♣5♣6♣T♣9
♣A♦4♣2♣3
♣8♦7♣K♣4
♣J♣Q♦T♠4
♠6♠8♠T

= 3NT by W, making 3,EW 400 = 4♠ by E, making 5,EW 450

= 3NT by W, down 1,EW -100

= 5♦ by W, making 5,EW 600

12

-

Ewart

Burke

64

23

(N-S)Ewart (E-W)Burke
(W)Courtney (N)Ewart (E)Burke (S)Howe

W N E S

1♦ P 1♥ 1♠

P 2♠ 3♠ P

3N P P P

♠8♠2 ♠J♠K
♥Q♥2♥5♥8
♥T♥6♥A♥J
♥K♣5♠3♥3
♥9♣2♦3♥4
♣A♣8♣6♣4
♦4♦T♦A♦J
♦2♠4♦5♦K
♠A♠T♠5♠6
♠Q

= 3NT by W, down 1,EW -100 = 5♦ by W, making 5,EW 600


